MSIT 458 

Homework 1

Group Name: 

1. Message digest are reasonably fast, but here’s a much faster function to compute.  Take your message, divide it into 128-bit chunks, and XOR all the chunks together to get a 128-bit result.  Do the standard message digest on the result.  Is this a good message digest function?
2. KPS problem 9-2

3. KPS problem 11-5
4. Propose an email-based protocol for botnet rallying and Botnet command & control. Assess your protocol’s ability to satisfy three desired properties: robustness, stealth, and mobility.

5. What is the traditional difference between viruses and worms?   What is the key difference between worms and botnets?
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